AH-V/History/CC-X1 /22
B.A. 5th Semester (Honours) Examination, 2022 (CBCS)
Subject : History
: Course : CC-XI
[History of Modern Europe (1789-1870)]

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten of the following questions, each in more than one sentences: 2x10=20
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(a) Who were the Sans Culottes?
T A2

(b) What were the Cahiers?
‘R e .

(c) Which incident in the history of the French Revolution is called the Funeral March of the
Monarchy? (
=i e 2RI (I TBAICE FSOLER <@l T =2

(d) What was the Concordat of 1801?
1801 SIS (R F?

(e) Which country declared Orders-in-Council? What was the content in this declaration?

e O SO -2 -G CarEel FTARET ? 2 CarEelE R Tl TR ?
® Which battle is known as the Battle of Nations and why?
WW‘W{WWW&«W?
(g) What was Philike Hetairia?
o
o 2o F?

(h) What did the Protocol of Troppau aim at? '
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(1) Who said, <‘Traly is only a geographical expression’’ and why?
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(j) What was the basic content of the book Organisation of Labour?
wfaterer o T <2 T e S e ¢

(k) Why is the year 1848 called the Year of Revolutions in the history of Europe?
1848 RFBITE TSCACH FORITT AT 27 F6T =A (A 2

(1) Who were the Carbonaries? Why were they 50 called?
AN P12 (@ ST €| A T 20 2

(m) What is Zollverein? ;
(ST 2

(n) Who described Napoleon III asi ‘Saint Simon on Horseback’ and why?
(F R (T GO (RTAAITRTHIAE SR (375 ART ST 9ol ST 2

(o) What do you mean by the Ems Telegram?
‘G (BTl TET0e S RGN 2

2. Answer any four of the followin;g questions: 5%4=20
fAsfeiie eriafer ey 7 (e 5rEve Ted (el ¢

(ay “The French Revolution was started and led to victory in the first phase by the
aristocracy”— would you agree with this view of Lefebvre?

“WW%MWW&?QW%WWWWW”—
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(b) How was Napoleon involved in the Peninsular War? In what ways did it expedite the

process of his downfall?
AR St SRR Ioa e steee? ot O sox-afras e gaEe
AR 2 .
(c) Why did the Concert of Europe fail?
RERIAR =R e 2ralRe (a2

(d) Why did the Industrial Revolution appear first in England?
PEfReR (9 BT 22w e FrafRe ¢

(&) Discuss in brief the economic reforms of Napoleon I1I.
TORI (AT WL FRFRST ATt SNt 0 |

(®) Was the Crimean War inevitable?
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3. Answer any two of the following questions:

10x2=20
ferteire emefom S0 @ ot 6 Bam o ¢

(a) Was the French Revolution (1789) an outcome of poverty or prosperity?

T R (1789) Mifdw-=1 R 2 srge et

(b) How did Napoleon reorganise Germany and Italy?
AR eI T & T s et

(¢) How did Metternich establish a conservative order in Europe?
(R PISI FOCATH G et G0 9IS QLARTeTH 2

(d) Assess Count Cavour’s contribution to the Italian unification.



